EB¥F100m

Ton- K4 ht g BE BEAFEH  EHEDH
1 456 Fith & FIFF9F vanviaor WWEXK K4 T W 10.43
2 3382 £ A Y 790 FIEK 1 T W 10.44
3 369 BT Fth 94h vagx HALfEHER 1 T W 10.53
4 5592 #1L £33 AF YT EEH STARTLINE = O 10.58
5 4561 {ERK HKE #4593 g KTC = O 10.59
6 3304 HH =4 EZ e BARABX 4 T W 10.64
7 318 {kik %Ll ) LA HiLZEBRX 4 T W 10.65
8 5156 {0 1= ETF VY VTC = W 10.71
8 3362 XWX EBX Y7'% 144 BARAB X 3 T W 10.71
10 944 /ML FHiE Y Y197 WEBRZES 2 = O 10.72
10 5327 /L EEE v Y RINDOU AC = W 10.72
12 422 5% #&E ahny 1% TN K2 T W 10.74
13 2120 RiEE A TUN b HRZEEKX 3 T W 10.77
14 383 B ME 4y hA'Y HiLfEdE R 4 T W 10.78
15 65 EK K 43% 4444 WweE=s 2 = W 10.79
16 290 =i B3} 97 Ik HiLZEBRX 2 T W 10.83
17 4058 BB BH YN 4T FOREFRONT = W 10.85
18 1574 Kk 15 4 493 HITE 3 T W 10.87
18 552 #gE MR DIVES] ITF=PN N2 T W 10.87
20 935 ;EK KE VIR Lt WEBEFES 2 = B 10.88
21 939 RJIl E#E A7 £4% WEEEFES 3 =) 10.91
21 367 XH BA EES VAN EEBEXR M1 & & 10.91
23 1805 EfE E# hny 714 FoE-1) 3 =) 10.94
24 370 IEE 1RiE VELYNZEUES LBl E TN 2 BB 10.95
25 3349 T BEF 4k )y RRERX 3 = B 10.97
26 1082 Zith g 9% Y1y WWeHmEs 3 [ 10.98
27 1808 FE B FN VavRY FoE-1) 3 = O 11.00
27 85 IEHE Rik #4b) 194 HiX 4 =) 11.00
29 1308 ffx @3 9FR’E 19k SEHS 2 = O 11.03
30 301 #H HHE #4974 Y1t WeEmEs 2 = W 11.04
31 5157 ZEE X H4 Y94 VTC T W 11.06
31 304 5K K# AR'% £k HiLZERBRK =) 11.06
33 881 LA fER 8 THE ENFES 3 =) 11.07
34 481 FEH KEE 7Y°4 k0L BitX M2 HF & 11.08
35 84 HIL —2 Y [y HiX M1 = W 11.09
36 728 K# BEZ 47 Yayt HRERX 1 T W 11.10
37 3714 ©H has a9y HRER¥FEKX 2 = W 11.12
37 938 ABk EER NG RELES WEBRZES 3 T W 11.12
39 5073 &H BRE hAM A% TG RACING = O 11.13
39 371 thRXK & ERERO HALfEHER 2 = B 11.13
39 5321 WA =T AEUF R ZUEY) RINDOU AC = W 11.13
42 24 FAA EF YA LUE BHitX 2 T o 11.15
43 5277 tERK #HEK & 49% STARTLINE = % 11.16
43 537 EE FAEE 1993 Ya9v EX K= = W 11.16
45 296 KE FiE AAL0 QR % WemEs 2 = B 1117
46 87 TR BK T 4% mikX 4 #wE 11.18
47 430 K&/ #X INIDRVEDL ] i&x K3 T W 11.19
47 6577 #%EE =& b TH REREBEKX 1 T W 11.19

1/19



B +200m

Ton- K& ht B4 HE BAFEH  EHLHE
1 5592 1L EiE AFYY EES STARTLINE = W 21.06
2 456 =FE AR ahny a9t4 ITEPN KZ4 = W 21.07
3 746 ERK EH VRER VY BEFK 1 5 F 21.23
4 2413 &2 KA JAFAT NYT REEXR 3 = W 21.25
5 314 BX & NEN)Y EEla=dp N 4 = W 21.58
6 1303 BE &= M0 a9y SRS 3 = W 21.64
7 73 TR BEX —vt )Hb HiX 4 = W 21.66
8 3362 XM BEX Y7'% 144 EFXPN-= N 3 = W 21.70
9 2120 R A 7UNT 3 HREBEKX 3 = W 21.82
10 3304 HH E4X IVE THA HAEKEFX 4 = W 21.88
11 4561 {ER”RK KB PLEX VK L& XTC = W 21.89
12 4058 AE B YN 4T FOREFRONT = W 21.92
12 1574 Fk 15 VELVEVH HIIE 3 = W 21.92
14 3349 IRk BT VELU D] HRERX 3 = W 21.97
14 35 =M TE Lng )aov HiX 2 [T 21.97
16 367 XH BA EES VAN EHEHHEEK M1 7 #F 2217
16 552 #EE WR VRS waEX pN=2 = W 2217
18 1538 HiE EiE ahny % L) 2 = W 22.26
19 1068 K&t fnFn *47 397 JILASEES 3 = W 22.29
20 5277 tkRXK thsk #i: 45% STARTLINE R 22.35
21 537 B FUEE 99379 Ya9% ieEx =2 = W 22.43
22 728 KR BEIZ 47 Yayt HREEX 1 ) 22.46
23 1805 HEiE HiA SNy 44 S 3 = W 22.47
24 20 f3E EKXER h3Fh )40 HiX 2 £ & 22.51
25 897 #HE ME#H Z4%7 4hkn SRR 2 = W 22.57
26 1312 k<K #X #4194 SR 2 ) 22.60
27 592 TH EA E54 IVEh HiX M2 ) 22.61
28 3714 £H A h*4" a9y HREEKX 2 = W 22.64
29 301 #BH H #4974 Y1t [IE=iE= 2 = W 22.66
30 296 K=E FiE AHLR AR ¥ [IEriE= 2 = W 22.68

EB+400m

FTon- K& ht B HE EPNG B
1102 f&BE FI= b7 B HiX M2 =) 48.15
2 434 BB "I hny 44k TF=PN K23 T W 48.21
3 1523 1k HE VIVE VY, mE 3 = W 48.42
4 920 FE Bk H4b) 19% BitX M1 * B 48.80
5 879 HiM BE 97 Iy RS 3 = W 48.83
6 98 FE BKE FIN 493 HiX 6 = W 4893
7 1113 # @ R QLM HitZREES 3 = W 48.95
8 2829 HIU B WUy M3 EBK 1 = W 48.99
9 50 B EKX hvl )ans HiX 3 * B 49.14
10 454 L ®H3 9F% 49k & X RE3 = W 4958
11 121 E)Il& EEX h3InDT+ 144 We=5 3 = 49.97
12 1201 \B E# Yo THE BAES = B 50.05
13 631 A @} 94 nyt MF= 3 = W 50.18
13 278 KB #N A1y YAy Wems g3 T W 50.18
15 821 #EiF EF =FEY 19 HitERs 3 = W 50.25
16 374 iEH BE- #h4 vk iR 2 T W 50.32
17 1039 RJII & A4h7 ehl Hits 2 = W 50.38
18 964 Bk BIE avk'y a9k WEBERZES 1 = W 50.49
19 1711 RiE K 9F93 kA HIZES 2 = W 50.52
20 528 =@k B4 IV WA [T=PN =2 = W 50.66
21 295 lUR Eifmth oA LAY BALERBR K 2 = W 50.82
21 0 BR —#E ANN7 hRE SoF—RnA 2 = W 50.82
23 308 lUE BX Y37 2951 [T 3 = W 51.00
24 14 2% \mA ah/Tngk weE—5 2 = W 51.03

2/19



BF110mH(1 067m/9 14m)

FTon- K& FiE% HE BAFEH  EHCHE
1 320 HHE X 1:/0/\ Y94 HALEEXR 4 = W 14.82
2 400 #WF E ™)Ly waEX RE2 = W 14.85
3 424 KE HE A4 Fa9 waEX KE2 = W 14.97
4 5301 =@ IEA IVNY IHh MSC = W 15.07
5 476 AE 2% ZUYh A%b HiX 3 = B 15.10
6 435 BIF &KX ahny 194 waEX KE3 = W 15.14
7 554 ;EMA 1&KE Y4 1944 waEX K1 = W 15.18
8 0 MB FER Y7 Yatd —1EX X2 = W 15.22
8 1298 /NE 1% 19519 SRS 3 = W 15.22
10 3342 Mk #K a4 yang HAEKEX 3 = B 15.23
11 1 #K EX ARE 44 EEX 2 = W 15.42
12 643 EFf BR 1747 £47) M= 2 = W 15.73
13 651 FH £ 74 vF M= 2 = W 15.75
13 86 /ME FE 147 bvkn HitX 5 = W 15.75
15 1503 /NE 1840 AUV nbE = 2 = B 15.86
16 874 FH EH 74 Avt4 EiFES 2 = W 15.91
17 286 &k & VIVAEY) (== 2 = W 15.97
18 391 RZF EEX T4F Y14 wes 3 = W 16.09
19 83 EHE ®KX Tha ok HiX 4 B E 16.24
20 2329 #AK it AR F A4 3 2 R 16.28
21 637 K¥ E#t L7 144 M= 3 ) 16.41
22 1536 HL FRE THYY Yavtq L) 2 ) 16.48
23 1935 %%k BA I'b a9 BEHKES 2 ) 16.69
24 963 BH MK #5934 94 WEERZES 2 = W 16.73

B F400mH(0.91 4m/ 35.00m)

FTon- K& B HE BAFTE#  EHREEH
1 1903 EEF MTF 71// a9aq RIEX 4 =) 49.74
2 58 FIER =AB TA YUY HiX 3 w2 51.64
3 400 A% E ™) Ly ilEx K2 =) 51.90
4 2829 ML HER WYY bET EBK 1 T W 52.22
5 324 =ik RE IV 493 HiERX 4 = W 53.49
6 554 EMA 1&KE Y4 1984 ilEx K1 =) 53.51
7 83 MMA #®#X Tha hui HiX 4 B E 54.10
8 158 B XK YY" T°V4 BEH—5 2 = % 54.54
9 121 EJII4 BEEX hih7t 144 we=%5 3 = W 54.95
10 86 /NH FE 147 hvEn HX 5 = B 54.98
11 636 dt#k EF ATy 19 FIAF= 3 = W 55.09
12 966 FIE E#H Fn kR WEBRZES 3 = W 55.31
13 0 Bl B&F 4¥H7 vk —15 2 = % 55.47
14 1707 L% &F 9I) 1)agaq HIZES 3 = % 55.52
15 835 FIFE & FN a9 HitERs 2 = B 55.57
16 717 8X HY b2EM 240 B 3 T W 57.42
17 1299 &8 & i E0 LHE 3 = W 57.69
18 353 #% EE 4FN'T YU’ [=35% 6= PN K2 57.81

ﬁiﬁ%:.i%OOm

Fun— ht ES FE BAFTEH &L
1 456 .—ﬁ.a. b 374 ahny 1944 [ITE=PN K4 =) 33.60
2 430 R&I 8K INGIVRVEDY TF=PN K23 = 35.81
3 0 BER —#& AN7 hRR SUF—RnA 2 =) 50.82
4 2413 EE KA 78FA nYT KEXIEX 3 =
4 314 1BK NENYY B (d=olh N 4 =

3/19



DA F300m

Ton- K& ht B4 HE BAFEH  EHLHE
1 65 EKRK K 3% 4414 L(TT= = 2 = W 21.95
2 1711 R\ X 9F93 k0 HIZES 2 = W 22.12
3 897 ¥E B Z4%7 4hen SF ke 2 = W 22.57
4 1303 BE &= M0 a9y SLHAE 3 = W 34.00
5 1201 )\B EH Yo THE BES 3 = W 35.25
6 631 FHMA @} 94 nyt M= 3 = W 35.52
7879 Fith BEE $9F Iy EiFES 3 = W 35.80
8 719 {EO EYF Yay BES 3 = W 3593
9 361 HF Hik 717 194 BRI 3 = W 36.43
10 1523 1&@k #E Hh) Fuvy = 3 = W 48.42
11 1538 BEiE EiE Shny % L) 2 = W 48.91
121039 RJII #BH: A4h7 ehl Hits 2 = W 50.38
13 308 WE EBX Yv3F 2944 (== 3 = W 51.00
DIEAR ?300mH(0 914m/35.00m)
FTon- K& FEE% HE BEAFTE# &R
1 1298 IhE 1% 1771-‘) SLHS 3 = W 15.22
2 637 A¥ B4t 07 19% M= 3 T W 16.41
3 423 BiE BAR ghiny 79407 ers 2 =) 16.79
4 864 EARE KW TH97 bETH ENFES 2 T W 40.71
5 158 IBE XK YUY 7TV4 EH—a 2 = W 40.72
6 1068 A+ fi#0 45297 DIILRSEES 3 =) 53.56
7 966 FE E#H FN kD WEBEBRZES 3 =) 55.31
8 1707 L% =wF 91/ Yagaq ERlEZE) 3 =) 55.52
9 835 FIE & FN Yam Bi¥Rs 2 =) 55.57
10 1503 /NB 1&#2 VI nbk =] 2 = O 57.20
11 M1 gX HK3 FSEM 44+ B 3 T W 57.42
12 1299 18 & Y ER LHE 3 =) 57.69
13 2329 #iK [5it ARF A4 EiBe 2 = O 57.77
QI‘EEB%:.HOOm
Fun— ht FiE% FE BAFEH  EHEH
1 1996 ?§JI| = AZh Ly YILFRAEES 1 ) 11.05
2 222 KF BiE AN 194 WEmLUE 1 = W 11.07
3 958 M Hi 49T 49y WEBERZES 1 " W 11.10
4 1995 Hik X H4b9 Y94 VIR RAEES 1 = W 11.19
4 1050 &1 =HE ahny VA Hits 1 = W 11.19
6 964 ik BIE vk a9k WEBERZES 1 " W 11.29
7 1993 EAK &3} PR VIR RAEES 1 " W 11.34
7 1211 HE —# AN AR BES 1 " W 11.34
9 1289 #iK K ARE 44N LHS 1 = W 11.37
9 1290 #AK B3} AR% Yb LHS 1 = W 11.37
11 1508 ZRg=E ZEN AN YIRG = 1 " W 11.42
12 803 dilE EKX Thy'I Y94 A 3 = 11.45
13 968 WA W& A EOF VS WEeEsEZES 1 " W 11.56
14 667 HE =K PUNREVL | MF= 1 " W 11.60
15 837 KRR &K 793 194 HiLFERS 1 = W 11.61
16 990 1@k & PIVRELES I&EXBERE 1 " W 11.63
17 20 Bk 184 Ly 29% weE—5 1 " W 11.65
17 605 EMA #aH VEN DY g iils 3 = 11.65
19 1053 B FEA Thy'I Yamk wiE 1 =) 11.67
20 38 FHFA @& )EF 3/4 iE—rh 3 = W 11.72
21 444 INE B IV 73Y B/IhRT 3 = 11.80
HEBR F1 10mH(0 991m/9.14m)
FTon- K& FiE% HE BAFTEH &L
1 18 B Bz 'ﬁu\/ 93 R4 we—= 1 =) 14.84
2 875 it B3 hJ7 ok ENEES 1 = W 15.38
3 654 HIU KE 7YY T4 MFE 1 = W 15.62
4 165 HIE {E#h YIY GARF BEH—= 1 = W 15.88
5 76 ER =t Ah'a YRy L= =y 1 = W 15.96
6 667 BE 3K PUNSEVE | RS 1 T W 16.10
7 188 Bk &A% 7% 19¥4 wez#s 1 = W 16.19
8 1131 &l EZ hyhT 44 HitZRiEES 1 = W 16.90
9 510 EE % 975 L4 RETH F23 = W 17.19

4/19



5 F#800m

fun - K4 nr ik AR E TR B Rk
1 5 i A1 My Tvel BAVE K 185 b 1:48.19
2 1 KRE e TN Ay #ALK 4% 1:51. 34
3 821 Ffe M N EAAEY HALF B 3 Mk 1:52. 72
4 429 BB R yub) bnk (IFEPN KF3H W 1:53. 65
5 98 T KE FAT I3 HIEK 6= IR 1:53.76
6 359 =|H: —HE hef AT IIEEPN 48 R 1:55. 11
7 1 T #E A% e —& 3EH M 1:55.35
8 655 EF Ea TH Y vk ALK 1§ 1:56. 08
9 867 mifH ik Iy any BT 28 W 1:56. 19
10 39 $ B vk vy HIEK 24 F 1:56. 25
11 66 JEIRF  #iK % a0y HIEK 4 B 1:56. 69
12 99 ik At ef % agy SEARE K ML E 4k 1:56. 70
13 96 HH fEA M TV HIEK M1 EE RS 1:57.02
13 584 g K Wik ARTE THE ALK 1 R 1:57. 02
15 1819 &ifE ik mry Ty L E 1'E R 1:57.67
16 2323 &JII ™ TN VelB & 3EH M 1:57. 69
17 456 f5 KT VR il T 3E M 1:58.01
18 5038 Z& tFH: TV R bhw T =R 4\ IR 1:58. 52
19 1311 /ML 3 aty e e R 28" B 1:58.73
20 428 &1 MEA EEEVEE flie xR KF3H W 1:58.88
21 1301 H& HK HhE) 794 e & 3 MK 1:58.93
22 122 3 HEA A9z agxr e =& 3H W 1:59. 08
23 7255 [ M&A LEZAREUA EF:N/N=PN 1'E R 1:59. 13
24 650 B ER M/AEVES R 2®" B 1:59. 14

% ¥1500m

Fon - K4 hr kS AR E TR H s Rk
1 5167 AFF K ¥h7 4 4F HBHDL =0 3:54. 49
2 3461 Wl FIEA oWy ) WK 6= IR 3:54. 94
31027 ®iJIl AT Ay Vai)Ak Wb 3'E W 3:55. 04
4 916 Hly KlE ivallyi 5B X R & 28 WK 3:565.43
5 388 #HJIl Bt S VEEY) HALFPER 1E R 3:57. 59
6 914 FRIL f&HH ) b BB X R & 3'E W 3:568.55
7 292 HH  Z&3f EMZAN P HALFBER 25 B 3:568.75
8 5165 fJIl 4 AVNY By% HHDL =0 3:59. 19
9 1034 BJI #RK FANT ~YH Wb 28 R 3:59. 43
10 127 HkF B Fhh7 2y & =& 3'E W 3:59.55
11 1038 = B#H = vk Ak 2°E WK 3:59. 71
12 996 b LIfE A)9z yaga® RN 3E Mk 4:00. 52
13 27 HBl JFk [ IETS BN 2E 4:00. 76
14 25 JeiE K ¥y Vans A HAEK 28 R 4:02.03
15 1029 JIls%  #t HIN 4 A% Wb 3E MK 4:03. 04
16 923 JEEF: s 7Y ank 5B X R & 28 WK 4:03.99
17 660 FJF {HX YINg 2k HAEK M1 4:04. 21
18 479 fHiE EK TAY Y FAh E N ML B 4:05.97
19 313 HWA MK YhhT anh A HALFPER 45 4:06. 00
20 993 REIK  FEKE b 2ped (PN 3 Mk 4:06. 17
21 397 e HEE LAV fiia R KF2 = R 4:06. 74
22 0 BEJE g YR A BAb F— L&A HObg 4:06. 79
23 5123 HHE EE LA A H%ERC bk 4:06. 88
24 5144 FE R W) By HEFEAC e 4:07. 35
25 5138 KL ISV N bEEAC bk 4:07.56
26 66 JEIF ik % any FAEK 48 W 4:07.92
27 718 Bl i I ZACERVAE S b= 3E I 4:08. 58
28 5186 & MK AVAVEDY] JEWE)IIRC HObg 4:08. 86
29 5096 4HF R av) JAM BEBXERC bk 4:09. 48



B F5000m

fun - K4 nr ik AR E TR B Rk
1 922 gnA  KHH ART¥ kmb & E s 5 & 28 IR 14:01. 61
21027 A EEZAF vThY Vay) Ay wAbE 3EH M 14:08. 34
3 918l TH Wy vy & E s 5 & 27 R 14:17. 80
4 1034 KJII K TANT R HbE 28 W 14:21. 48
5 3461 W)l FIEA w0y )y HHK 6= IR 14:23. 37
6 4241 K& EI Ty vy fAHERC HObg 14:25.85
7 913 &Il K NAY Vany (INSy= st 3EH M 14:32.92
8 1028 JFH K¥H IZ A A HbE 3EH M 14:37.83
9 1038 =B Wik = Mk HbE 2® B 14:42. 18
10 1029 JII% 4 N R A% HbE 3H M 14:52. 69
11 4438 =% [} NV 247y N TA)=Y B 14:53. 74
12 1031 A HEK Ah 4 )0y HbE 3EH M 14:55. 96
13 3590 EifE AR VI YN HHK ML E 4k 15:05. 36
14 633 DN IEFR VA=Y FF & 3EH M 15:10. 49
15 866 byl HAE 497 4o AN 28 W 15:10. 94
16 48 FIE K FAT vy HIEK 3K H 15:13.01
17 993 "R JRXRE 7 ajuny & R A 3HE W 15:14.39
18 996 H Ik LEE Az yapa® fili& KB R & 3H W 15:16. 92
19 321 BY v (EIVES HAEFBER 48 W 15:18. 32
20 1035 Ei# K& VES UM Hbm 2®" B 15:20. 64
21 994 JBE &K VL] =P N5 RINC Y 15:21. 39
22 5024 =if FpE W7 bvE YKKAPH#IE B O 15:25. 32
23 5124 @& I VI ED] HERC bR 15:27.15
24 648 {HF Iz $774 V) FFF & 2H MR 15:29. 68
25 5138 ff kW 1NN bH5EEAC bR 15:30. 87
26 1030 faf i R vy Hbm 3'H M 15:31.85
27 5186 £k WA Fh9 vany JEHE)IRC B 15:33. 48
28 0 R FE V7Y yay kb 'O 15:34. 04
29 4151 HHlH  KifE =y ay AR R R 5 W 15:37.99
30 997 #E¥y —HE AN hR T & KB R & 28 W 15:38.31

% 10000m

o - K4 o kS AR E TR SRRk
1 924 £ FK ) J4% 5B X R & 28 WK 14:28. 86
2 994 JBE &K IV (INEPN: I 3E W 15:21. 39
3 911 /hH KMt AN BB X R & 3'E W 15:21. 97
4 5024 =il FHE W7 bV YKKA P bk 15:25. 32
5 648 ¢ w7 L2y FUNF & 287 R 15:29. 68
6 5123 @ EE 174 en7¥ HAERC bk 15:34.99
7T 997 FERF AN AR T (INEPN: I 28 WK 15:38.31
8 649 Ve A LAVAVERN FUE & 28 R 15:38. 66
9 0 BEH Mg YR 4 HAb F— LKA =07 29:39. 36
10 633 NEE Ik VA FIRT 3'E W 31:17.72
11 4241 KA&  HEHR oy vox &R C bk 31:32.18
12 47 il K AT BAR FAEK 3K W 31:48.86
13 5168 #hK HH ARF TV HHDL HObg 31:52.89
14 5170 K K— T 34F HHDL HObg 32:15. 40
15 101 TjE KA VAN AYY) HALK M2 B F 32:31.84



5 %3000mSC (0. 914m)
h

o - K4 ik AR E TR B Rk
1 5167 ARK K %67 AT HHDL bk 9:09. 37
2 127 Wk = Fha7 29) s =& 3EH W 9:21.88
3 1032 kF i b vy #wAbE 3EH M 9:22.54
4 1031 e K Ah 4 )08 HbE 3EH M 9:31.54
5 649 A Fby 7Ab FIF & 28 MK 9:35. 89
6 2325 1A fRER SEZEEVA VelB & 3EH M 9:40. 50
7 104 Bl =72 VONEM A HIEK 6= IR 9:45. 32
8 362 K BRIk DYk Vavh (=872 §=PN KF4E W 9:53.17
9 1346 LD BEA ¥ F p4b £ B 28 W 9:53.37
10 170 (AR wrtk YvEh bnh LK RRITIA 9:56. 34
11 4151 HilH K =y§ ay ALK = R 5 W 9:56. 71
12 7314 EifE SEER iy 73 L UneaE 1 R 9:57.84
13 855 ZfE & ANV EV, HALTPEE 28" B 9:59. 65
14 5123 A& H T4 v fAERC O 10:00. 28
15 1942 fEjE Rk by ik peE = 3E M 10:02. 52
16 1421 % EE NV SN (=£79-3:1 3HE W 10:07. 25

5B #5000mW

fon - R hF BEES AR B NPT JE B Tk
1 3585 FHMH EEA ENV/ AR R b B R =0 21:04.07
2 277 W 4} /2 FEEEVN 48 MR 21:57. 49
3 253 /M JEFR ANR FEEEVN 28 W 22:20. 25
4 3181 fejE BE LAVAEYVES B b =0 22:36. 04
5 515 FIER 22K OEUL R 3E Mk 22:37.31
6 1306 H'F =i J4h kn)) SEH & 3'E W 22:40. 30
7 604 ¥EjE  FHK #hy vank HALFRER e W, 22:53. 14
8 787 R M—RE F)F v Ty A 28 W 23:44.53
9 2324 FHH A5 7 Fyn 4 CREr 3'E W 23:48.30
10 1319 K b HhJHA ARY ap)aF SR & 287 W 24:25. 40
11 2340 BE &4 ATUF Ve 3'E W 24:35. 63
12 1116 fign &3} VAo AR YA HAL B i & 3'E W 25:49. 60
13 783 FJR EAT VULVAN VXS B 3'E W 26:11.01

D4EBE F3000m

N - A4 hr i AR B TR H B Rk
1 80 ' M&K VarREVY &= 1'E R 4:11.56
2 1718 JRfA &K ALl )RR & 1'E R 4:11.88
3 989 EjE HEE LVAEVEN fili& KB R & 1 4:14.22
4 24 [N &4 LESZEEUR fli&—rm 1'E R 4:15.01
5 1058 7% KE T BT Hbm 1'E R 4:16. 54
6 992 fnjE ek AVALEAY =P N 15 1'E R 4:16. 96
7 666 HEF {5tk t) vayh FE 1E W 4:18.93
8 1057 thEE HEH ENNVAEVAE S Hbm 1'E R 4:19. 12
9 1214 FE  ERHE TH YR VA HAE 1'E R 4:19. 90
10 985 W Mz hv) 397 =P N 15 1'E R 4:19.93
11 930 EBRE (T INTY B (== drs L& Hk 8:37.89
12 931V BEE S VAV (== drs LB B 8:37.93
13 926 i)l K AFH 547 (== drs 1'E R 8:50. 20
14 927 Bl BEHA Y VACIENY (== drs LB B 8:58. 52
15 991 kA BERK w7 ) antd =P N 15 1'E R 9:00. 01
16 932 HME HERE AV wvey s BT LB B 9:00. 32
17 4411 B BN TAT YR Lo LAH 3E M 9:05. 34
18 1056 il KE* AFHY Wb 1'E R 9:12.38
19 1054 e F=EH VAREVL Wb 1E W 9:14. 96
20 75 K K¥ AN Teh & 1'E R 9:18.12
21 653 M HEEE TBTT %) ay FE 1 R 9:18.49
22 832 BfF XL VYN VAVAED) AR LB B 9:19.98
23 352 Xifh A IZSA T —RAA 3E Mk 9:21.10
24 840 dbili  sEHEE  Fpye avyny WAL 1E W 9:23.16
25 1059 KA RE% TAME Vi HbE e IR 9:24. 30
26 802 Fj7 B[ Fhoagh” R 1 R 9:25.95



B EmBk

N - R4 n iR AR EAFTRA B EE
1 3589 HifE {EFIAR Yhny Ay B ) B 2m13
2 282 R CHAR 708 I9AF WIET K 47 W 2m03
3 294 P K Ay 14 wALEERER 2°E MK 2m00
3 1026 S IR AN ELY] Wb 3'E W 2m00
5 4591 ML EKEE hayye prv STARTLINE 3E MK 1m98
6 4841 BIE AR ahT Ay e A S — X O 1m95
6 3223 W il AR ¥ M B B O 1m95
8 3724 BEFT  HRK LAY ESN bk 1m93
9 1895 /N¥f {EAY *) 2y HLE K 48 W 1m91
10 414 [A[ER YR TN M ik RF2 '® W 1m90
11 788 HH ik vy agyy A 28 W 1m87
12 395 YR PIER KOF Ay (I=F= 3'E W 1m84
12 244 HEfE  FEE phny ank A& A L 27 W 1m84
14 4187 JEw  &14 vany aniy SRA O

BrERY

fun - R4 I e AR AR B
1 15 /R Rt AT Y (1PN 48 MK 5m10
2 51 AT HEZE Yvh ¥ HIEK 3K W 4m90
3 3168 #&HF B 74) v [EI B K 28 W 4m70
3 4014 /N R 1177 T%7 YEFEPYC B 4m70
5 5300 1EjE  HE Fhy anaf MSC HOWg 4m50
6 3087 dhH KA v A kb O 4m30
6 888 itk IKIE Zsr BEVEN ECVIIESEE 3SHEH MW 4m30
8 4013 & FEK W r1p YEFEPYC B O 4m20
8 2977 T3 o FAT 0T IRVE K e W 4m20
10 899 MRy I R MEVES T 7 B e 2H IR 3m90
10 2342 R HE 7Y 95 Dagv e 3E W 3m90
10 863 flH His} A48 Vanh BT 28 W 3m90
13 2344 % 1&1E N VAEYLY] VerB & 28 R 3m80
13 2345 HHE f@ ENZ AV (R 28 R 3m80
15 92 HHE A EMZAREV]) HAEK 434 F 3m60

% F &Rk

fun - K4 2 @4 AR PR BHE
1 1835 M A UZSENVIAN HLH K 3E O 7m59
2 880 /& 4HRA Vaa @A RN 3'E W 7mb5
3 4798 @it Wik Iy T SRR 28 R Tm46
4 445 B & R Y7 (INEFN RFE3'®E W 7m23
5 1021 #F LA T3 Brh Wb 3H W 7m18
6 462 . DhiE THY avk iR RFLE W Tm06
7 5327 /ML ik e 7Y RINDOU AC O m01
8 7744 HR IR BRART Y IR JIE R K G 6m91
9 553 Bl BEA EER SV {(INEPN KELE b 6m86
10 605 HFf TR BT PYh HALFPER 1= R 6m81
11 1307 B BHAS 7¥) hAb SEH & 25" W 6m78
12 51 I % LUACEEY il & 3EH M 6m77
13 513 fefik KI5 LAV = 3E Mk 6m72
13 93 RA  Kh# FEN FAF FAEK Ml B 6m72
15 5074 mjE 3} /MY AYh TG RACING OO 6m71
16 8 A M} h7% b fii&a—@ 3 Mk 6m68
16 1118 B SRk vy aytd AL B ] 3 Mk 6m68
18 2418 Bl K MY BT A% SALVE & 3 Mk 6m61
19 1832 KR#F  ¥EA 47 anh” BT S 3 Mk 6m59
20 2341 FE O IR AN YA ViR 3E bR 6m58
20 557 R TRER At i) fiia K KZLE W, 6m58
22 431 7Rk A8 Ay )7 (RPN KE3H W 6m55
23 4004 Eifs B Bhny agaf EWHE T 7T bk 6mb52



%+ =EBeBk

ton - K4 nr &4 AR AR B R
1 1835 Y A VAT ) HLH K 3'E W 15m18
2 3 M M R [HISPN 2E I 15m06
3 445 BIE & U7 [IIFSPN K3 H W 15m05
4 880 2 A Vi au A R 3'E W 14m64
5 3053 757 X LEVIEYY] B H O 14m37
6 431 FEHRE R by V7 (=N KE3HE W 14m33
7 5116 A IS AEb 297 EHH E Bk = 14m19
7 1021 #%FE LA T b Ak 3H MW 14m19
9 7744 HEROIRL BHART Y Ak JIE R K 1'E R 14m12
10 80 kM A8 TR B N 4| W 13m93
11 3130 Hi®F 53 74 FAh 1 T e b 3 27 W 13m60
11 5325 K % A RINDOU AC bk 13m60
13 612 &£ KFn I &4 CE N T 3'E W 13m48
14 702 fAHE AR A hA et 3E Mk 13m42
15 836 IR K AT RN AL 2B Yk 13m20
DB S T HER
fon - R4 h PR A EAFTEM BRGIE
1 876 21K M ety TR 1'E R 6m67
2 87T A EK NEN 48 BT 1'E R 6m65
3 807 KA b M 24 b AR L 3H W 6m6 1
4 1049 )11 HRK 00 A e LE 6m55
5 1051 fhA Wtk YrEN Jayar ks 1'E W 6m49
6 1992 R Mo A vy v LR A B 18 W 6m32
7 ==Y ¥y av% e =& LE 6m20
8 828 KM K Ay any B E 1= B 6m15
9 424 JEK  EEKR YR Ay s TE L® Hk 6m01
10 447 R U g 73 B /MR 3H W 6m00
11 1129 JIR R WY vae WAL BTk i v 1'E R 5m99
12 2517 By HERR TAT gt WA= 3E M 5m98
13 4575 FBA WM NEL THES STARTLINE 3H MW 5m82
14 1409 W IEAL LYY BIh 28791 1'E R 5m81
14 4573 HEYS K& ARINT vay STARTLINE 3H MW 5m81
5B FHIAE (7. 260ke)
s kS AR EAFIRM B E
1 1586 /ﬂm i y7Y vay 5T 2H MR 14m27
2 3725 =il M N/VAEYES HOLFEKR 3'E W 13m50
3 2312 1 Bk A A VEiR T 18 W) 12m51
7 F FIBEE (2. 000ke)
tun - R4 P& 4 FE WAFIERM B
1 467 JEEE EK /\U: VAR iR K4 'E WK 44m83
2 691 HEAR L.L ARSI IEY g A K 28 W 43m72
3 3008 7§ K #4 tu¥ Bk et O 39m40
4 1235 HAT A VANV £ M = 2 H 37m57
5 518 FHE &K 2l fliexk KFL'E W 37m50
6 5078 HIKf w—L & I F n-bya BRI R e 3E MK 33m53
B N<w—F(T. 260kg)
fun - K4 iz AR MAFTEM BEHE
1 419 N i w VZN (INEPN KF2H W, 55m08
2 678 JNf%E  FH VIVAVEYS ERIEXPN 28 W 54m33
3 426 HEEE  FAE AT AR (INEPN KE2HE W 48m09
4 7874 KT F— NZEUZ FABEE SCRER 1E IR 45m77
5 5022 4 EEL AR 3 JIw FOREFRONT O 38m27



%%@D&@m@

TN - n iR AR EAFTRA B EE
1 461 1@1’% &K LAVAEVY] [IIFSPN K4 E W 71m08
2 5294 KK HERk FANE Y2024 MSC O 66m06
3 5297 &% FEAN ay) )77} MSC bk 63m89
4 5039 /AR [E EINE O VY T =R A B W 63m52
5 5298 B fEFE ENIVELLY MSC O 63m39
6 5293 & 94 b)) MSC O 63m22
7 43 #5@ PR WA MAF ALK 2§ 58m00
8 9N B nF e WK 4= 56m97
9 526 EH #&A B yan IFEUN KEFL'HE W 55m60
10 1676 Eiif tLBF YUAERVEL S L=Vl 3E MK 54m84
11 691 [LE {Hih LGZANNS = ¢ ELUT 3H M 54m20
12 471 Veg =% LAVAELY] {IFEFN RF4E W 53m44
13 1069 & — ) AR YE LA T B 3E W 51m65
14 3724 R SRR ALY ESN 485 B 51m28

IHEATF N /v—&(ﬁ 000kg)

fun - R4 Fﬁ)ﬁ:ﬁ,% AR AR B
1 1297 KFE  #8ik 7/ A %30y e R 3E W 53m35
2 1296 FA[E6 kst ANEYE e R 3'H M 49m95
3 1932 HifE AR gy X EYOKEE 28 W 44m34
4 1208 fEjE  KIv LV ARYY) FA &= 28 MK 42m87
5 785 /MU BEf A AYh EAE 25 B 40m84
5 638 48 [N av) Ak Rt e 3'H M 40m84

J‘ﬂiBégﬁﬁFqﬁﬁﬁk(l 500kg)

2 iR A EAFIRM B e
1 1561 17’511%% BT *W ARy T 18 W 33m39
2 2312 VejE Bk M A Ve 18 W) 32m78
3 327 #HE R WEVAY VLS (=g 1E 32m39
4 1286 JnfE AL VAR Y S 18 W 28m32
5 804 Rl kA0 NeHTT B AR 3'E W 25m74
6 838 FFEF A h) 2P AL b 1E 24m12
7 1939 2 & VY% B K E 18 WK
7 729 PR FREFIHE 7AT b7 g ne 18 W
7 1215 H'F @k Ay e B & 18 W
7 1216 AEA  Ef% JpT = Fun) HA 18 WK
7 1222 K RAF IATRT TR SFarss 18 W



